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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
1) 9,250 - 313 =
2.
2) 64 - 27 = 3
4,
3 2,166 - 5 =
5.
4 58 - 27 = o
7.
5 2,612 - 3 = g
9.
6) 6,417 - 37 =
10.
7) 5,227 - 3,402 = 11.
12.
8 91 - 4 =
9 7,406 - 53 =
100 441 - 3 =
1) 703 - 627 =
12) 846 - 29 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1. 8,937
1) 9,250 - 313 = 8,937
2. 37
2 64 - 27 = 37 3 2,161
4 31
3 2,166 - 5 = 2,161
5, 2,609
4 58 - 27 = 31 6. 6,380
7 1,825
5 2,612 - 3 = 2,609 o 87
0. 7,353
6) 6,417 - 37 6,380
10, 438
7) 5,227 - 3,402 = 1,825 11, 76
12, 817
8 91 - 4 = 87
9 7,406 - 53 7,353
10) 441 - 3 = 438
1) 703 - 627 = 76
12) 846 - 29 = 817
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C:# Subtraction (Horizontal) Name:

Solve each problem. Answers
438 1,825 2,161 8,937 87
6,380 2,609 31 7,353 37 1.

1) 9,250 - 313 =

2) 64 - 27 =
5.
3) 2,166 - 5 = 6.
7.
4) 58 - 27 = 8.
9.
5 2,612 - 3 =

10.

6) 6,417 - 37 =

7) 5,227 - 3,402 =

8 91 - 4 =

9 7,406 - 53 =

10) 441 - 3 =
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